Nikon

EZ—-X42 K (757 52—1F%)

{E A 5HEAZ /Instruction manual T

FUHIC

CDEVF. ZaY ES—RYY R(FPHTF—4E) ZBEL EIFL
erRE. FIELHDHESTETVET,
HEZBFEVICKEDHFNCAEZZE XK BHHACED, ELLKBFELLKE
fay AN

SFTACIE D IERIE. WOTHRESNDETAITHERELTLEEW,

@ FEREHIAEICDOT

c FHHAED—EELEZEITTEIRIT D EFE. B BID
WreLEY,.

c AEDASANE. RBREELDHZEDHDFET,

e FARAZDED I ECDVTOHEIFCTEMLSIEE L,

c BIMMDNER. TR, HEERFFTELLKEEITDENBDEIFIDT.
CTELLEEL,

Z2t - ERLOTER

COEMRBECE, BELPHOALDBEPLHEADBEER
RICBHE, CORRERLLHHBLOVERL BT, FoTVTE
RVWEEERBELTVEY. NEZELCERLTH S, REETHER
<REW,

CORTZEFEUT, BocWMbRWZETDE. ADTE
BE | tFrR. BEBEEaSAREMNIBESNDIREZRLT
L\ijo

CORTEEELT, BokHhBVETDE, ADE
ANES | SEESTERDEEINDIAEB LU, YKHBZEDH
DRENMEESNDATERLTVET,

ABE
s COHRRBICKUE DD, 35 Thiofch. BLVEEZESIIEWVWT
<fEEWV, ERITITNNHDET,

AN ER

s COHRBOIRICHEATNTVDRUREEZ, INSHEBFEIEOD
FOBEKETBICENFVNTLEE L, OPEZEZTE. ZRDR
RACEDTENBDET,

s BFEITDB@ P BMZER D CARFIATIFVNEK S TERLTEE LY,
F—. BRIHANIEZEIF. T ICERMDBIZRZITTIEE L,

* CORPEAREFERICEDFNTL S, &EElICKD. [FH
PRIBORREZDIEDHDET,

s COHMIE. REEOFEAPEREDEICHIEL. KELEZTTT
EHHDFRT, CHERAICEDRICRIRL. HEICLDIEREDNRSN
eEaR. ZaVOY—EAHEEICTHERLSIEE L,

s COHRMISEED G DD, HHIUTHEEITBLELIEDAILEED
LEVWTLIZE W, [THDFREREEDIENBDET,

s COHBEMPHILTCERDEED, BECTITI—ZWMOHFIFDEE
[F. RILETULOHODEBERELTL S,

e COHRBITHBVERBESIEVWTL ISV, BBEICKDER., WiE
LIEBEIRF. 3<IEHBEVLIFE. FEZIVDU—EX#EIC
TR IZELY,

s COHBEBHEIEZHEE. KENEEEFAENRUREZID
HUTLREEL, BE®IF. SERILSMEHFDEVDERLTL
ZEW,

HFEAN - FFICDONT

* CORRBICH. KE. BWEH/DVcEEF. REMVERLEMT
EPHCHERDKLSICLTLEEV, &LIC, BIFETEDND
EEE B RRSHVWEREM CIESZHEMD. RICFEWL M
TELHEWTEPLTLEELY,

cNRUI VP IFIREOEKREEI®C. BRERZESTIU—F—
FEEBNEE LICEDIEVTLEEL,

(77 9—H—ERIEDVNT
BELVLEIFWEEEFLEZOY ES—RY VYR (PHTY—1F
#) % BOLTCEAVNEEEET ESROEBDER. 75—
H—E2EFoTHDET,

 FREOBIEMMEDE (ZORADBEEEHIST B DI HE
ITERR ) IE. BB RS 8 FREERICRELTAD T,
CEAVEREVTHED T TREIEEAENE SNCDEE LT
F. CHAR. FE=1Y0Y—E ZEEABHNADE L
=0,

ZOAVOH—EREREICDETELTIE. [ZaV—EX#ERED
BN BB,

f45c
K& KK BTEICIDBERCIFRIBETLBLRDSNDHE
(F. EEDRTEELEDTT, FH. COWEXFHBEDOERED
d‘ﬂi(;:j‘JG)*D‘—E‘Z%EE&ICB%D"&*(TC“&L\Q

~

J
=
R
A5 RER
A5 REBEHILTINAIT
=R I~ (M10x20 12
K RIVYRFITH—
BT FRATYTERIL b
(M10 x 2047%) - M10A
v
75T —EB ERDFIFAD Y Y v—{[FERAI
t=ERIL S (M12x30 64) - M12
AIYRTITI— \Qﬁﬁ,; (M12x30 62) m
\/ % THADEY Mok TIRBRIC
0 EENBVEEDBOET.
17|
BEmM) | b | EE @) ko)
25 RER 1,115 423 26.5
BEfE(mm) B (mm) BE () (9)
75 T5—8 184 12 850

1.ES—X5 2 ROEHIT

1- ORIEBDIEFH LT

1. BEEIC. 0 2 AOHEEHIIET.
B M10 7B LY F ERBRERIL h (M10) 8 FEE ST,
Uohb EBHIFTREL,

Z0%. BEQHERICNAENHEINIL b (M10) 4 AZE <R UIAH
gg—o

2. ESTHEEFEC, BHIITHEBIZERELT T,

3. HIDFEiRIC 5 2K FRERARIV FEBFHEOBENEY 1 XD/
FETELT. HEBHKFICEDLSICRELET,
KFEREERNIL bOSEHDHE (CH DIADIBE(E. #HRFEZHWN
T, FEHHHODIATENELDICLTLIEELY,

1- @IER & ZAEDHH LT
1. ZHTHOYILIROREWMAIC, FIE1-D-1 TRy FURKRIL
PERHFT,

2. STRZREACEHE T, YILIROBOERSD (CRIL MHEDETX
BZELET,

3. M10 A7REL I FTHRAETYTERIL b (M10) ZHEDIITE T,

2.0/B8EES -5 ROHEMB T

2-ORBEAIYRPITI—DHEHIT
1. REERYYRTITI—%, M2 ARBLYFET Y Y v—ffE
FETERIV S (M12) 6 7> TREICEELET,

2. AV RF7FTH—THEHOD M10 )L RRISRERGERIL b
(M10) 4 XZE<RUIAANTHEET,
(2= i

2-@Q7 9 TI—ERALES -5 FOIEBIT
1. X HBOYILTROAZVAIIC, FIE2-©-2TEY FLERY
¥ K79 T9—TFBORENUFERIL b (M10) ZEHFT,

2. RENZHECH 5. FILINDHLERSICRIL RHEDE T

RBZELOULET,
= %
//

3. M1OARAEL Y FTHRAETUSERIL b (M10) ZHDMTFET,
REWNRBFR A ERADED FFFIRIC DN TIFAENIREE
RABOERFHBAZEZBRUL TS,

3.V 05 —(4ERBLES ATV RD
EbSHU

MO 2- QOB T, RAERYY K79 T5—(HEH{HS

REFICLTBLTET, 2 BELEORETIE 2- DERRTTET.

BAICHE LS. ERGICARIRSEHA R URAZE S —

252 RDSBDALTRET BT EESTIHLET,

#st = EYaY
NIKON VISION CO., LTD.

Printed in Japan, 911C_1_1910



Nikon

Binocular Telescope Pillar Stand with Adapter

Instruction manual

Introduction

Thank you for purchasing the Nikon Binocular Telescope Pillar Stand with
Adapter.

Before using the product, read this manual thoroughly to ensure proper use.
After reading this manual, keep it in a readily accessible place for future refer-
ence.

@ About the manual

«+ No part of the manual may be reproduced, transmitted, transcribed,
stored in a retrieval system, or translated into any language in any form, by
any means, without Nikon'’s prior written permission.

« lllustrations shown in this manual may differ from the actual product.

« Nikon will not be held liable for any errors this manual may contain.

« The appearance, specifications, and capabilities of this product are subject
to change without notice.

SAFETY AND OPERATION PRECAUTIONS

Strictly observe the guidelines contained in this manual in order to use this
product safely and prevent possible injury or property damage to you and
others. Understand the contents thoroughly for correct use of the product.

This indicates that improper use by ignoring the con-
/N\ WARNING | tents described herein can result in potential death or
serious injury.

This indicates that improper use by ignoring the con-
/N CAUTION | tents described herein can result in potential injury or
material loss.

/\ WARNING

« Do not climb on or hang from this product. Do not subject it to physical
shocks. Otherwise, it may tip over.

/N\ CAUTION
- Keep the plastic bag used to wrap this product or other small parts out of
reach of children. The bag may block their mouths and noses and cause
them to suffocate.

Be careful of children inadvertently swallowing small parts or accessories.
If children swallow such parts, see a doctor immediately.

Do not place this product on an unstable surface. Otherwise, it may fall
and cause personal injury or product damage.

The product may deteriorate when it is used or stored over a long period
of time, and deterioration may stain your clothes. Check the product be-
fore use, and if any defects due to deterioration are found, consult a Nikon
authorized service representative.

When assembling the product, exercise care not to drop or tilt it because
it is heavy. Failure to do so may cause personal injury.

When assembling the product or attaching the fork mount or adapter to
it, be sure to firmly secure them using bolts.

« Do not subject the product to any physical shocks. If the product is de- 2. Place the assembled leg section on a firm, flat surface.

formed or damaged due to being subjected to shocks, consult your local

dealer or a Nikon authorized service representative immediately. 3
« When moving the product, be sure to remove the binocular telescope
body and the fork mount. After moving it, check all bolts for looseness.

l Care and maintenance precautions

appropriate size to level the leg section.

prevent them from sinking into the ground.

« If any rain, water, sand, or mud should come in contact with the product,

remove it using a soft, clean cloth as soon as possible. If using the product
at the seaside, wipe off any salt that may have adhered to the surface of 1. Insert the bolts you set in step 1-(1)-1 into the larger holes of the key-
the body using a damp, soft, clean cloth, and then wipe it again using a

dry cloth.

« Do not use benzene, thinner, or any other cleaners containing organic

solvents.

Components

holes at the lower part of the pillar.

Stand

stand adapter
Hexagonal key

M10x20 bolts (x12) used to
assemble the stand, M10x20
bolts (x4) used to attach the

enter the smaller holes of the keyholes.

Adapter

M12x30 bolts (x6) with washers used to
attach the fork mount, M12 hexagonal key

Stand adapter\ - \

* May be not included in the items supplied
depending on the purchased set.

=

key.
Specifications
Leg section
Height (mm/in.) Distance from the Weight (kg/oz.)
center (mm/in.)

Stand 1,115/43.9 423/16.7 26.5/934.8
Diameter (mm/in.) Thickness (mm/in.) Weight (g/0z.)

Adapter 184/7.2 12/0.5 850/30.0

1. Assembling the pillar stand
1-(1) Assembling the leg section

1. Attach the other two legs to the base.

Firmly assemble them using the M10 hexagonal key and eight M10 hex

socket head cap bolts provided with the product.

Then, lightly screw the four M10 hex socket head cap bolts into the leg

head on the base.

2. Assembling the fork mount and pillar stand

2-(1) Assembling the fork mount and stand adapter

. Turn the leveling bolt on the end of each leg using a wrench of an

If the ends of the leveling bolts sink into the ground, lay an iron plate to

1-2 Assembling the leg section and pillar

2. Place the pillar on the leg head and turn the pillar until the bolts

3. Tighten the M10 hex socket head cap bolts using the M10 hexagonal

1. Assemble the fork mount and stand adapter.

washers to firmly secure them.

Use the M12 hexagonal key, M12 hex socket head cap bolts, and six

2. Lightly screw the four M10 hex socket head cap bolts into the M10
holes at the bottom of the stand adapter.

2-(2) Assembling the fork mount with the adapter and
pillar stand
1. Insert the M10 hex socket head cap bolts you set to the lower part of
the stand adapter in step 2-(1)-2 into the larger holes of the keyholes
at the upper part of the pillar.

2. After you have placed the fork mount on the pillar, turn the fork
mount until the bolts enter the smaller holes of the keyholes.

N

—

&

3. Tighten the M10 hex socket head cap bolts using the M10 hexagonal
key.
For the procedures to attach the binocular telescope body and the fork
mount, refer to the Nikon Binocular Telescope Body Instruction Manual.

3 Removing the fork mount with the adapter
and pillar stand

Reverse step 2-(2) to remove them. Keeping the fork mount and the adapter
in an assembled state will allow you to skip step 2-(1) for the second and
subsequent installations.

If the product is placed outdoors, we recommend that you remove the
binocular telescope body and fork mount from the pillar stand after use and
then store it.



